Transfers Report

This report contains the transfers results.

Contest Name	Ward 1 - Annick
Valid Votes	6,191
Positions to be Filled	4
Quota	1,239

Stage 1

Candidate Name	Affiliation		No. of Ballot Papers
Jen BROADHURST	Scottish Green Party		274
Ellen FREEL	Independent		775
Gordon JENKINS	Scottish National Party (SNP)		1,076
Eòghann MACCOLL	Scottish National Party (SNP)		925
John MCFADZEAN	Scottish Conservative and Unionist		2,277
John MCGHEE	Scottish Labour Party		837
Amrik SINGH	Scottish Libertarian Party		7
Gordon WALKER	Independent		20
		Total	6,191

Candidate John MCFADZEAN Elected with 2,277 votes, being in excess of the quota of 1,239

Transfers Report

This report contains the transfers results.

Stage 2 - Surplus of John MCFADZEAN

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jen BROADHURST	115	0.45586	52.42390
Transfer to Ellen FREEL	523	0.45586	238.41478
Transfer to Gordon JENKINS	47	0.45586	21.42542
Transfer to Eòghann MACCOLL	49	0.45586	22.33714
Transfer to John MCFADZEAN	0	0.00000	0.00000
Transfer to John MCGHEE	530	0.45586	241.60580
Transfer to Amrik SINGH	49	0.45586	22.33714
Transfer to Gordon WALKER	91	0.45586	41.48326
Value of non-transferable ballot papers			397.97256
	Total		1,038.00000

Transfers Report

This report contains the transfers results.

Stage 3 - Exclusion of Amrik SINGH

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jen BROADHURST	4	0.45586	1.82344
Transfer to Ellen FREEL	14	0.45586	6.38204
Transfer to Ellen FREEL	2	1.00000	2.00000
Transfer to Gordon JENKINS	2	0.45586	0.91172
Transfer to Eòghann MACCOLL	1	1.00000	1.00000
Transfer to John MCFADZEAN	0	0.00000	0.00000
Transfer to John MCGHEE	15	0.45586	6.83790
Transfer to John MCGHEE	3	1.00000	3.00000
Transfer to Gordon WALKER	8	0.45586	3.64688
Transfer to Gordon WALKER	1	1.00000	1.00000
Value of non-transferable ballot papers			2.73516

Total

29.33714

Transfers Report

This report contains the transfers results.

Stage 4 - Exclusion of Gordon WALKER

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jen BROADHURST	9	0.45586	4.10274
Transfer to Jen BROADHURST	2	1.00000	2.00000
Transfer to Ellen FREEL	57	0.45586	25.98402
Transfer to Ellen FREEL	9	1.00000	9.00000
Transfer to Gordon JENKINS	1	0.45586	0.45586
Transfer to Eòghann MACCOLL	1	0.45586	0.45586
Transfer to Eòghann MACCOLL	1	1.00000	1.00000
Transfer to John MCFADZEAN	0	0.00000	0.00000
Transfer to John MCGHEE	16	0.45586	7.29376
Transfer to John MCGHEE	5	1.00000	5.00000
Transfer to Amrik SINGH	0	0.00000	0.00000
Value of non-transferable ballot papers			10.83790

Total

66.13014

Transfers Report

This report contains the transfers results.

Stage 5 - Exclusion of Jen BROADHURST

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Ellen FREEL	54	0.45586	24.61644
Transfer to Ellen FREEL	81	1.00000	81.00000
Transfer to Gordon JENKINS	8	0.45586	3.64688
Transfer to Gordon JENKINS	59	1.00000	59.00000
Transfer to Eòghann MACCOLL	2	0.45586	0.91172
Transfer to Eòghann MACCOLL	55	1.00000	55.00000
Transfer to John MCFADZEAN	0	0.00000	0.00000
Transfer to John MCGHEE	20	0.45586	9.11720
Transfer to John MCGHEE	45	1.00000	45.00000
Transfer to Amrik SINGH	0	0.00000	0.00000
Transfer to Gordon WALKER	0	0.00000	0.00000
Value of non-transferable ballot papers			56.05784

Total

334.35008

Transfers Report

This report contains the transfers results.

Stage 6 - Exclusion of Eòghann MACCOLL

Action	Total No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Jen BROADHURST	0	0.00000	0.00000
Transfer to Ellen FREEL	10	0.45586	4.55860
Transfer to Ellen FREEL	58	1.00000	58.00000
Transfer to Gordon JENKINS	23	0.45586	10.48478
Transfer to Gordon JENKINS	822	1.00000	822.00000
Transfer to John MCFADZEAN	0	0.00000	0.00000
Transfer to John MCGHEE	4	0.45586	1.82344
Transfer to John MCGHEE	51	1.00000	51.00000
Transfer to Amrik SINGH	0	0.00000	0.00000
Transfer to Gordon WALKER	0	0.00000	0.00000
Value of non-transferable ballot papers			57.83790

Total

1,005.70472